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JNE] i H FEHE BRI fhENRE TN E)
LU HaEL 5 el Aol sl Al el s Al dsdl AEH (5 | (&5)
X 49, 185 109, 600] 53, 245] 56, 355 30 -2 =79 55 134 771 440] 363 0 119 119
HI—TH 696 1,465 713 752 —4 —4 -2 1 3 -5 2 7 3 4 1
FLl T H 568[ 1,294 644 650 —4 -6 -2 0 2 —4 2 6 0 0 0
LI =TH 468 1,044 498 546 2 5 -1 0 1 -1 3 4 7 7 0
Sl AE 1,732 3,803] 1,855| 1,948 —6 -5 -5 1 6 -10 7 17 10 11 1
Sk —TH 482 923 432 491 -2 -6 0 0 0 -6 2 8 0 1 1
. = 735 1,693 812 881 2 -3 -1 1 2 -1 2 3 -1 3 4
SR —TH 5551 1,277 609 668 -2 -3 -3 0 3 -3 3 6 3 4 1
S AT H 397 876 438 438 0 -3 -1 0 1 -2 1 3 0 0 0
o h ] B 612 1,318 637 681 -2 -1 -1 1 2 3 7 4 -3 1 4
BN T B 236 494 248 246 0 -3 -1 0 1 -3 0 3 1 1 0
ARt TH 652/l 1,635 792 843 4] =10 -2 0 2 -5 4 9 -3 0 3
oA\ T H 388 837 382 455 -1 0 0 0 —4 0 4 3 3 0
IV B 621) 1,466 718 748 2 4 1 2 1 1 7 6 2 2 0
e e Etl 4,678 10,519] 5,068| 5,451 —6 -26 -8 4 12 -20 26 46 2 15 13
e n—1H 356 793 393 400 -2 —4 1 1 0 -6 2 8 1 1 0
sk T AL 1,023 2,094 1,050 1,044 -1 -5 0 2 2 -2 2 4 -3 2 5
HHk o —TH 679 1,386 678 708 -2 -1 -2 0 2 0 2 2 1 2 1
Wk A AaErl 2,058 4,273] 2,121] 2,152 -5 =10 -1 3 4 -8 6 14 -1 5 6
ST a1 H 562 1,243 596 647 2 0 1 1 6 7 1 -2 0 2
ek R _TH 363 923 466 457 2 0 0 0 4 1 0 0 0
Mk R =TH 248 539 273 266 2 1 2 1 4 1 1 1 0
ik L G| 567 1,307 668 639 5 -1 1 2 7 2 2 2 0
mskr aaEtl 1,740 4,012] 2,003[ 2,009 11 18 0 4 4 17 22 5 1 3 2
TEIT) 377 844 408 436 3 2 -2 0 2 3 6 3 1 1 0
HOEEN— T H 214 437 221 216 1 0 0 0 0 0 1 1 0 0 0
HOEE T H 425 933 462 471 —4 -7 -2 0 2 1 3 2 -6 0 6
HoEEI =T H 692| 1,672 816 856 -3 -8 -1 2 3 -6 2 8 -1 0 1
HOEEAN T H 810/ 2,023] 1,005 1,018 3 1 0 3 3 -3 4 7 4 5 1
HEROH T H 441 1,020 516 504 -1 —4 -2 0 2 -2 0 2 0 0 0
HOEEIS T H 400 858 421 437 3 -2 -3 0 3 1 15 14 0 0 0
HoEEOETH 676l 1,428 703 725 3 -1 1 2 6 7 1 -2 1 3
HOEEHOSE 3,658 8,371 4,144 4,227 3| 17 -9 6 15 -3 32 35 -5 6 11
PEEE 1,513 2,733 1,308 1,425 -3 -14 -1 0 1 -10 7 17 -3 1 4
FHIAR 301 633 324 309 -1 -1 -2 0 2 2 2 0 -1 0 1
EE g —T 544/ 1,103 509 594 6 10 -1 0 1 12 13 1 -1 4 5
EE g — T 260 513 252 261 -1 —4 -1 0 1 -3 1 4 0 0 0
R =T H 536 1,175 582 593 0 1 2 2 0 0 0 0 -1 0 1
TEE Py T 661 1,311 617 694 -2 -5 0 1 1 0 4 4 -5 0 5
EEP g R T H 239 546 268 278 -1 1 1 1 0 0 2 2 0 0 0
HEER A2 2 2391 4,648]  2,228| 2,420 2 3 1 4 3 9 20 11 -7 4 11
EEIARRT— T H 708l 1,401 661 740 -8|  -11 -2 0 2 -5 13 18 —4 1 5
EEIARRT T H 678 1,296 600 696 3 2 0 1 1 3 6 3 -1 0 1
EEOARRTAE 1,386 2,697 1,261 1,436 -5 -9 -2 1 3 -2 19 21 -5 1 6
RPN 282 785 428 357 11 11 1 1 0 10 11 1 0 0 0
WHR—TH 7271l 1,636 801 835 5| =12 -3 0 3 -7 0 7 -2 0 2
WOOR T H| L 747 3,949 1,902] 2,047 -1 -9 2 2 0 2 5 3| -13 2 15
WHR=TH 876l 2,211] 1,081 1,130 0 1 —4 1 5 -3 0 3 8 8 0
HHRIT H 500/ 1,203 568 635 1 2 0 0 0 2 3 1 0 0 0
HPREEE 3,8501  8,999| 4,352 4,647 -5 -18 -5 3 8 -6 8 14 -7 10 17
HiR—TH 735l 1,587 778 809 5 5 0 2 2 5 9 4 0 0 0
LR - TH 950| 2,246| 1,122 1,124 -1 5 -2 1 3 1 12 11 6 11 5
PR =TH 507l 1,067 548 519 -1 -2 -2 0 2 -1 7 8 1 1 0
briRE&EH 2,192(  4,900] 2,448 2,452 3 8 —4 3 7 5 28 23 7 12 5
T IROBTHT 326 805 389 416 1 -3 0 0 0 -3 2 5 0 0 0
el 1,604 5,052| 2,238 2,814 -2 -5 -7 2 9 1 15 14 1 1 0
M E T H 756 1,710 819 891 1 2 1 1 0 3 6 3 -2 0 2
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FYlE 1T H 761l 1,788 885 903 -2 2 -3 0 3 2 2 0 3 4 1
MoE =1 H 638 1,489 736 753 -2 -3 -1 1 2 -2 4 6 0 0 0
A EN T H 926 2,187| 1,032| 1,155 —4 -5 -5 0 5 1 4 3 -1 2 3
RCENNE 669 1,502 745 757 3 5 0 0 0 9 11 2 —4 0 4
MAEST H 420 972 453 519 0 2 -1 0 1 1 3 2 2 3 1
Ml EaE 4,170( 9,648] 4,670| 4,978 —4 3 -9 2 11 14 30 16 -2 9 11
VEPIe S 585 1,148 559 589 -1 -3 -3 0 3 0 2 2 0 0 0
e —TH 324 691 331 360 -3 -2 -2 0 2 -2 0 2 2 2 0
i — T H 598( 1,309 623 686 5 3 -1 1 2 4 7 3 0 0 0
A gl 922|l 2,000 954 1,046 2 1 -3 1 4 2 7 5 2 2 0
Eh— 1 H 308 684 347 337 0 0 0 0 0 -1 0 1 1 1 0
B — T H 673 1,392 655 737 5 5 -1 0 1 4 6 2 2 3 1
=T H 422l 1,078 540 538 0 1 0 0 0 1 3 2 0 0 0
EAE| 1,403\ 3,154 1,542] 1,612 5 6 -1 0 1 4 9 5 3 4 1
e —TH 388 916 430 486 1 0 -1 0 1 2 2 0 -1 0 1
WHE T H 448 1,076 535 541 -1 -2 1 1 0 —4 0 4 1 1 0
HHE T H 829 2,036| 1,040 996 -1 1 0 3 3 -1 4 5 2 2 0
W& T B 445 1,015 493 522 0 0 0 0 0 1 1 0 -1 0 1
B E ] H 838 1,790 386 904 -3 -12 -2 1 3 —7 1 8 -3 0 3
HHIENT H 239 493 249 244 -2 —4 0 0 0 -2 0 2 -2 0 2
HEOE 3,187 7,326] 3,633 3,693 6|  -17 -2 5 7 -11 8 19 -4 3 7
<HWE—TH 597 1,332 642 690 2 1 -2 0 2 2 5 3 1 2 1
<HEIL—TH 713 1,477 717 760 4 —4 -1 0 1 -3 6 9 0 0 0
SHBEIL=TH 514 1,112 549 563 -1 —4 -2 0 2 0 4 4 -2 0 2
<HEWLPTH 582 1,180 580 600 -1 -1 0 1 1 0 2 2 -1 0 1
<O T H 279 607 328 279 0 0 0 0 0 0 0 0 0 0 0
<MEEEH 2,685 5,708 2,816 2,892 4 -8 -5 1 6 -1 17 18 -2 2 4
WIE AR —TH 793 1,689 821 868 3 7 0 3 3 5 7 2 2 6 4
WIEAR T H 480 1,133 584 549 0 2 1 1 0 1 3 2 0 0 0
OIEATSE 1,273 2,822| 1,405 1,417 3 9 1 4 3 6 10 4 2 6 4
s 406 778 367 411 1 3 -1 0 1 4 7 3 0 0 0
ek —TH|L 1,161 1,842 859 983 4 4 0 1 1 2 14 12 2 3 1
e T H 585( 1,053 509 544 28 60 2 2 0 43 48 5 15 17 2
kR =T H 728l 1,788 840 948 4 7 —4 1 5 14 18 4 -3 1 4
sk BRI H 415 855 410 445 4 6 -1 1 2 7 10 3 0 2 2
A aaEl 2,889 5,538 2,618] 2,920 40 77 -3 5 8 66 90 24 14 23 9
FRIREET 21 52 27 25 0 0 0 0 0 0 0 0 0 0 0
B 738 1,714 823 891 —4 1 1 1 0 2 7 5 -2 0 2
VEEE 326 730 334 396 -3 -8 —4 0 4 —4 1 5 0 0 0
e — T H 453 1,099 544 555 -2 -2 0 1 1 -2 0 2 0 0 0
e T H 414 921 453 468 3 7 0 1 1 7 7 0 0 0 0
oo B R 867 2,020 997 1,023 1 5 0 2 2 5 7 2 0 0 0
P — T H 708 1,435 712 723 -12 —6 -3 0 3 -3 21 24 0 0 0
P T H 543 1,286 608 678 4 2 -2 1 3 6 9 3 -2 0 2
weEm A s 1,251 2,721 1,320] 1,401 -8 —4 -5 1 6 3 30 27 -2 0 2
P e 320 693 353 340 -1 2 1 1 0 2 3 1 -1 0 1
BEHIR 206 474 252 222 0 -3 -2 0 2 0 1 1 -1 0 1




